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SPPS %5
Test Statistics
SAMPLES
Mann-Whitney U 22.000
Z -0.2285
Asymp . Sig (2-tailed) 0.024
Exact Sig .[2*(1-tailed Sig)] 0.042
2
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1 (%5 )

N 500

Normal Parameters Mean 84
Std. Deviation 16.75

Most Extreme Absolute 65

Differences Positive 65
Negative -84

Kolmogorov-Smirnov Z 067

Asymp . Sig (2-tailed) .082

a. Test distribution is Poisson b. Calculated from data
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X1= 6.5, X2=7.2, n1=150, nz=130, ¢2,=1.5, 02%,=0.75
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Ho: pa=p2 ,H1: p1> p2
Ho: pa=p2 ,H1: pa# p2 .
Ho: pi=p2 H1: pu<pz .

Ho: pa<pz ,H1: pa# p2 .

5.44
-0.7 .
-5.57
0.1256
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:5% (2)
Test Statistics
Value df Asymp . Sig (2-tailed)
Person Chi-Square 5.8488 9 0.1311
Likelihood Ratio 6.9016 0.1302
Linear-by-Linear Association 0.7152 3 0.117
N of Valid Cases 96
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Ho: pa<pz H1: pu<pz .
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. (p(x>3)) 3 -
68.26%

95.45% .

99.74% .

97.73% .

. (p(x>4.5)) 4.5 -
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A={ 4, 8, 12, 16, 20, 24} , B={ 6, 12, 18, 24} U={ 4, 6, 8, 12, 16, 18, 20, 24, 30, 40}
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Ho: pi>p2 ,H1: pu< p2

Ho: p1=p2 ,H1: pa#t p2 .
Ho: pa=p2 ,H1: pa<uz .

Ho: pi=p2 ,H1: pi>p2 .
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32.4047 .
1105000 .
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14.53 .
-14.53 .
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t )
5
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Wilcoxon Spss
Ranks
N Mean Rank | Sum of Ranks
AFTER- Negative Ranks 4 1.246 22.97
BEFORE | Positive Ranks 1 1.141 1.141
Ties 0
Total 5
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SAMPLES
Ci-Square 7.524
Df 2
Asymp.Sig 062
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